restart
Ecua == y"—=5-y'+ 6-y=4-exp(x) + 3-exp(4-x)
2

d d
Ecua = g y(x)—35 & y(x) +6y(x)=4¢+3 et (0))
Q = rhs(Ecua)
O:=4¢+3¢"" ?2)
EcuaCarac = m" — 5-m+ 6 =0
EcuaCarac == m" —5m~+ 6=0 A3)
Raiz = solve(EcuaCarac)
Raiz == 3,2 )
W11 = exp(Raiz[1]x); y[2] = exp(Raiz[2]-x)
yyl — e3x
=t 3)
with(linalg) :
WWW := wronskian([yy[1], y[2]], x)
e3x e2x
WWW := 3 . )
3¢ 2"
BB = array([0, Q])
BB:=[0 4¢+3¢" 7
ParaVar := linsolve( WWW, BB)
4 +3¢"" 4e+3¢"
ParaVar := ix - 7x t))
e e
Aprima = ParaVar|1]; Bprima := ParaVar|[2 ]
. 4e+3 e
Aprima == —————
e
) 4¢ +3e*"
Bprima = — T )
SolGralNoHom = y(x) = simplify( (int(Aprima,x) + CI)-yy[1]+ (int(Bprima,x) + C2)
w(2]) \
X 3 ) X X
SolGralNoHom = y(x) =2 ¢ + % +&F Cl+ & 2 (10)
Comprobar = simplify(eval(subs(y(x) =rhs(SolGralNoHom), Ecua)))
Comprobar =4 ¢ + 3¢ =4¢ + 3¢ (11)
restart
Ecua :=y"+ y"+ y'+ y=2-exp(x) + 3-x-exp(x)

3 2
Ecua := % y(x) + % y(x) + % y(x) +y(x)=2¢+3x¢ 12)



> Q:=rhs(Ecua)

O:=2¢+3x¢

> EcuaCarac:=m +m* +m+1=0

EcuaCarac:=m +m* +m~+1=0

> Raiz = solve(EcuaCarac)

> yy[1] = exp(Raiz[1]x);yy[2] := cos(Im(Raiz[2]) x); yy[3] := sin(Im(Raiz[2]) -x);

Raiz == —1,1, —1
yy =e
Yy, = cos(x)
yy; = sin(x)

> with(linalg) :

> WWW := wronskian([yy[1], yv[2],»v[3]], x)

—X

e cos(x) sin(x)
WWW:=| —e* —sin(x) cos(x)
e —cos(x) —sin(x)

> BB := array([0,0, O])

BB = [ 00 26x+3xex]

(> ParaVar = simplify(linsolve(WWW, BB) )

€ (3x+2) (cos(x) — sin(x))

2

X

ParaVar =
3 (cos(x) + sin + 2 ¢
x x)) [x+ =
(3x+2)ezx _ ( () ()) 3
2 2
> Aprima = ParaVar[1]; Bprima := ParaVar[2]; Dprima := ParaVar[3 ]
23 &2
Aprima == @H%

3 (cos(x) + sin(x)) (x+ 3) e

3

Bprima = —

2

€ (3x+2) (cos(x) — sin(x))

Dprima =

(> SolGral == v(x) =simplify( (int(Aprima,x) + CI)-yy[1]+ (int(Bprima,x) + C2)-yy[2]

+ (int(Dprima,x) + _C3)-yy[3])

SolGral == y(x)=e¢~" _CI + (6x=5)e

2

8

> SolucionGral == simplify(dsolve( Ecua) )

SolucionGral == y(x) =c, e

—X

(6x—5)¢
8

+ cos(x) _C2 +sin(x) _C3

+ ¢, cos(x) + ¢, sin(x)

13)

(14)

)

(16)

a7

(18)

19)

(20)

(e3y

(22)



> FEcua

i (x)-l—d—2 (x -l—i (x) +y(x)=2¢"+3x¢ 23)
o PRIRAC A by
> Comprobar = simplify(eval(subs(y(x) =rhs(SolucionGral), Ecua)))
Comprobar == ¢ (3x+2)=¢ (3x+2) 24)




